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Map).

Please check that this question paper contains 37 questions.

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please write down the serial number of the question in the answer-book
before attempting it.

15 minute time has been allotted to read this question paper. The question
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question number 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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(Sgfereheda 3e) (20 x 1 = 20)

1. 49 TR e miekle’ Ffaiad 1 & fora fomamem @ gefeq or ? 1
(A) FHSEE (B) 3R
(C) wHAHI (D) wrEETE

2. = Q%Y few | A AR (A) 3 HRT (R) & | SF1 AT 1 ufen 3 wd
ferehed 1 =9 IS | 1
ARHAT (A) :  TiS IR Whicere o g TR 36 A (1707)’ | FAT5CE T ATH

e oA’ o1 TTe 53T |

SR (R) : $018 Thiceis T U1 T THMT =rga o |

forpea

(A) (A) IR (R) 1 @21 & 3R (R), (A) ! FE! AT HLA1 S |
(B) (A) 30 (R) aFi @&l €, g (R), (A) sh! HEl <A T Hiai 2 |
(C) (A) @& 7, "g (R) ™o 7 |

(D) (A) TTerd &, 7 (R) @el € |

3. Tym=fefaad geisti ot Hretshites 9 8 Srafe Hife 3t a8 fohca A il | 1
I.  Eqan 6 gty
II. 3vant sl & ol Rl YgH T
I, STeshd 999
V. Jifersm <Y TrTieh Gifge
Toreped
A IV, ILI&III
B) IILIILIV &I
©) IV,LII&III
O) LIV, I &II

32/2/1/21/BBCA2 Page 4 of 32




SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1. The German philosopher ‘Johann Gottfried’ belonged to which one of the

following schools of thought ? 1
(A) Socialist (B) Liberalist
(C) Romanticist (D) Marxist

2.  Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : ‘The Act of Union 1707 between England and Scotland
resulted in the formation of ‘United Kingdom of Great Britain’.

Reason (R) : England wanted to impose its influence on Scotland.
Options:

(A) Both (A) and (R) are true and (R) is the correct explaination of (A).
(B) Both (A) and (R) are true but (R) is not the correct explaination of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

3. Arrange the following events in chronological order and choose the correct
option. 1

I. Treaty of Constantinople

II. Hamburg granted autonomy to Hungary
ITII. Balkan Conflict

IV. Napoleonic Civil Code

Options:

A IV, I,I&III

B) IILIIV&I

(C©) IV, L1II &III

D) LIV, I &II
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4. TrafaRea @ @ HH-o1 e o gufera § 2

T A
(TGH) (TTH)

(A) e Fol TR e

(B) g = F=ft shferand

(©) T gl et A

(D) Tt & Bl IR oS HaTA

5. Tk €™ i qfd o foTe T2 forehed o1 == SIS |

I @S AYS
W‘?‘@ﬁﬁr: ............
(A) STRid T8 (B) digwETse
(C) T (D) wifew

6. &I h! HTIRIA feRINaTaTi I ey 3R G Y frehedi § & §a1 i 9g=H it |

o g fomgd w9 H Tefl g ST wei g # |

o STOHCH TEH AR |

o 3N, e 3R Hfeh! 9T ITA & |

fopen

(A) et ga (B) el e
(C) IS Hal (D) STeiIg HeT
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4.  Which one of the following pairs is correctly matched ? 1

List-I List-I1

(Author) (Book)
(A) Jyotiba Phule Amar Jiban
(B) Sudarshan Chakra Sachhi Kavitayen
(C) Rash Sundari Debi Gulamgiri
(D) Kashi Baba Chotte aur Bade Sawal

5. Choose the correct option to fill the blank. 1

Non Metallic Mineral : Mica

Energy Mineral: | ...

(A) Natural Gas (B) Bauxite

(C) Manganese (D) Platinum

6. Read the following characteristics of a soil and identify the soil from the

given options. 1

o It is widely spread and important soil.

o Northern plains are made of it.

o It consists of sand, silt and clay.

Options:
(A) Yellow soil (B) Black soil
(C) Laterite soil (D) Alluvial soil
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7.  T9-1R1 e w9-11 9 hifve 3 92t faemca w1 =94 il -

w1

(H8)
L ™
IL
1. =™
IV.  Heeh
Terepeq -

I I1

@A d a
B ¢ d
© a
O d b

-l

(1)
HIT 3
9 ®EA

el by

QT 37 I B8

v

8. frmfaftaa el =l ufeu 3R feu T foehedl # @ Wi wfaum ° 3feeifaa d&t sree 1

Wﬁﬁﬁ:

o AN Uy 7 foret oft o} <h1 Uorehi o o w9 H 3Tfiehr A8 foran 8 |
o WG H ford ot & A1 UTeH T 3T YRR ohid hl 3ANET B |

Torehe

A) TR
(B) WYwE-HI
(C) HurSad
(D) vt
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7. Match Column-I with Column-II and choose the correct option : 1

Column-I Column-II
(Crop) (Type)
I. Wheat a.  Millet Crop
II. Ragi b.  Beverage Crop
III. Tea c. Food Crop
IV. DMaize d. Food & Fodder Crop
Options:
I II I v
(A) d a C b
(B) c d b a
(©) c a b d
(D) d b a ¢

8. Read the following statements and choose the correct term mentioned in

the Indian Constitution from the given options : 1

o There is no official religion for the Indian State.

o There is freedom to profess, practise and propagate any religion

1n India.

Options:

(A) Republic
(B) Sovereign
(C) Socialist
(D) Secular
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9. frafafgaSgida sm-mmgafera ?
(Tl wiferen # feit <t =) (for=)

(A)  wg g o ~ TR
B) T g w1 faw —  foren
(C) THa gt o1 forsr — g oM
(D) sTh § T S CEI

10. Sfcsam i w1 i ARieit % G99 § FfcRad wuEi @1 afeu 3k @€t fashed w1 w=m
HIT |
I 58cd o aue gfaffe ameft srem TR # |
1. ¥ SR | S 3R Whal- ATl A1 sl 0H 967 3 |
III. TTYETReh BXeh ST T Tsh &1 TN Siet dTel @1 &hid % |
IV. SgeE -l o qgd Sfea™ H %3 eH 3I31¢ T |
e :
A) I II3WIV

B) I, 13RIV
(C) IL III3WIV
(D) I, 113 III

11. f=fafea 09 frg oo § “Teh-actfia sgeen’ g 2
(A) TIH T TURET
(B) FATEes Tehten

(C) wra

(D) <A
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9.  Which one of the following pairs is correctly matched ? 1

(Subject List in the Indian (Subject)
Constitution)
(A) Union List Subjects - Communication
(B) State List Subjects - Education
(C) Concurrent List Subjects — Adoption
(D) Residuary Subjects - Marriages

10. Read the following statements about power sharing arrangement in

Belgium and choose the correct option. 1
I.  Brussels has a separate govt. with equal representation.

II. Dutch & French speaking ministers are equal in Central Govt.

III. Community Govt. is elected by People belonging to one language.

IV. Series of majoritarian measures adopted in Belgium.

Options :

A L ITandIV

(B) L IITandIV

(C) 1L III and 1V

(D) I, II and III

11. Which one of the following countries has ‘one-party system’ ? 1
(A) United States of America
(B) United Kingdom
(C) India
(D) China
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12. T=fefaa @ @ -1 ArRhas o1 o g 8 2
(A) U fxh T AEH
(B) SMTd HHEE! 1 IMEH
(C) TIaAdT ok |1 AN I SMEH

(D) =T Ig@l =T I

13, fafafea wmwisti 3§ & wn - yrdta dfaum 6 smadt sggeh § aftrfera 2 2
(A) g (B) TSEHI
(C) Trgaet (D) 3fean

14. T wm sl qfd & o7 9t foshed w1 = iV |
& & Y R 3G9 TR Y o AT H TR FHESAT T ST 8 |

@A) 10 B) 7
C) 5 D) 8

15. WH ST 7 T Aigeel § IR INER & | 3 IR UNER! &l Th G618 1 379 a9
% 2,000, 5,000, T 3,000 3T T 6,000 B 11 Alget i ATHI & Ed AT BRI —

(A) % 4,000
(B) 2 5,000
(C) % 2,000

(D) 1,000
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12. Which one of the following is a fundamental principle of democracy ? 1
(A) Rule of single individual
(B) Rule with hereditary norms
(C) Rule of people with freedom

(D) Rule of military chiefs

13. Which one of the following languages is included in Eighth Schedule in

Indian Constitution ? 1
(A) Hariyanavi (B) Rajasthani
(C) Garhwali (D) Odia

14. Choose the correct option to fill the blank.

Literacy Rate measures the proportion of literate population in the

years and above age group. 1
(A) 10 B) 7
©€) 5 D) 8

15. Assume there are four families in a locality. If the incomes of these four

families in a week are ¥ 2,000, ¥ 5,000, ¥ 3,000 and T 6,000, then the

weekly average income of the locality will be — 1
(A) T 4,000
(B) 5,000
(C) T 2,000
(D) 1,000
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16. Tr=faRad § & wF-1 e 9! gafed 8 2

(rfeTERAT T BA) (SSTETT)
A) i & — gt
B) ot aoep ~ g
(C) qdre & —  Sfaie IEh
(D) et &ereh - ER

17. feuwwm fom =i efau | fomr 0 8 oo R fefefaa O 9 fora &mes & 3farid smar g

5 o " : .;
23 »

(C) 3TerTiSa &= (D) e ST

e . Fr=fafaa w1 wae gidafea wlefiE & foe yr gem 17 F @MW R |
fmfafed 3 & w-a1 3em gnfed & @ qefa & 2

(A) T hIeTE (B) wgU¥HE Hmfaf

(C) peure forshar (D) FHERIEAM

18. THRId H & M- s G & ST ATt 30T (el o TTeIfHeh 3639 & ?
(A) 3 forfia T o T faeaet e
(B) <had UM &k bl SITY TG
(C) UE UM ! 3™ FgHT
(D) 3miieh TorehTa <1 THT ST
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16. Which one of the following pairs is correctly matched ? 1

(Sector of the Economy) (Example)
(A) Primary Sector - Tailor
(B) Secondary Sector — Fisherman
(C) Tertiary Sector — Astronaut
(D) Primary Sector — Courier

17. Look at the given image. The work done in the image comes under which

one of the following sectors ? 1

(A) Organized sector (B) Primary sector
(C) Unorganized sector (D) Public sector
Note: The following question is for the Visually Impaired

Candidates in lieu of question no. 17.

Which one of the following enterprises belongs to the organized sector ? 1
(A) Independent Freelancers (B) Multinational Corporations
(C) Street Vendors (D) Cottage Industries

18. Which of the following is the primary purpose of loan activities offered by
banks ? 1
(A) To compete with other financial institutions
(B) To generate profits for the primary sector only
(C) To increase income of MNCs

(D) To support economic growth
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19. Sydiehr & feferiad Taeetl =l 3 foaatr o @1y fiersy 3R Tt foehed o1 =2
ST |

T T
CIECERLEN (Ferareom)
I heifies 3=fd a. foaml, goat 3t ot &
HCH-3EH
II. =TT IGRIHT b. @3 ¥ H A ST
1. di&hiae EH-TgH c.  3cUTGH, g1 Ud HER H TEER
IV. Sgugi sufar d. SR R IfaeY g
forepem
I I I IV
A) a b c d
B) ¢ d a b
€ d c b a
M) b a d c

20. fr=fefga & @ SR gomm @i’ (BMI) & Jodieh § Gafdd T8 foehed &1 ==
i |

(A) & =19 T ATheH
(B) T& eh(l TR I JTTeheid
(C) IR =t BT T SATehel
(D) 379 TIYUT ST SATehei
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19. Match the following aspects of globalization with their descriptions and

choose the correct option.

(Global Aspect)

I. Technological
Advancement

II. Liberalization of Trade

III. Cultural Exchange

IV. Multinational

List-I

Corporations
Options:
I IT
A a b
(B) c d
© d c
M) b a

III

List-I1
(Description)

a. Interaction of ideas,

values and traditions

b. Companies operating in

many countries

c. Innovation in
manufacturing,
communication and

information

d. The removal of

restriction on trade

v

20. Choose the correct option regarding ‘Body Mass Index’ (BMI) from the

following.

(A) Assessment of Blood Pressure

(B) Assessment of Blood Sugar Level

(C) Assessment of Body Composition

(D) Assessment of under Nutrition
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Qg -@ (4 x 2=28)

(3far -3 %)

21. “1815 H U ¥ T1fUd Efeard! e =aemd Figp off |” #1531 T o 39 HUH i
g Hifse |

29. &fas gl greerd Fwier 9 forg g fir 2 2 saren hifsw |

23. (a) iy Fafg 3l anforfsae i o 3iq g i |
YT

(b) Tt 3R G I g B R T HIT |

24. T UY fohd TR 371Teeh forenmdl 37X wifareT Urwufiert < s Tger ST oht Tehd & ? ig
Tl b T Y ST |

Qque - (5 x 3=15)

(T3 T%)

25. (a) 3MYHS HT & Tgct o JT W ‘Tees uml’ fohg TohR STaTRa: Tdehi 1 Teh Sfiaa
IETE0T AT ? T9F I |

AYdT

(b) Y I § TEA o I H el Ut e Thr U SRl o ot HIEhldeh STGH-
TEH 9T & ? T HIR |
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21.

22.

23.

24.

25.

SECTION - B (4x2=8)

(Very Short Answer Type Questions)

“Conservative regimes set up in Europe in 1815 were autocratic.” Support

the statement by giving any two arguments. 2

How is horizontal power sharing different from vertical ? Explain. 2

(a) Differentiate between Primitive Subsistence and Commercial Farming. 2
OR

(b) Differentiate between Rabi and Kharif cropping seasons. 2

How can a nation achieve a balance between economic growth and

environment sustainability ? Explain by giving any two arguments. 2

SECTION - C (5x3=15)

(Short Answer Type Questions)

(a) How was the ‘Silk Route’ an example of vibrant pre-modern trade ?

Explain. 3
OR

(b) How did food promote long-distance cultural contacts in the

pre-modern world ? Explain. 3
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26.

27.

28

29

30

“vrd <hl Tfg 31oe fafmior S 1 sem 3 38 fafaear o & fafga 8 17 39 weA
! TETT 38U | 3

w

Alehas H USTHIfeeh gal gry TIuTE S sttt foreal i foreiieTia <ht samen shifs |

. ¢9 % 31Tk forenta T R0 % HEw hl 9@ hifvu | 3

. hT ST § el & hl Ush Hewqul YfHehT 7 |7 ¢feh Sfiad % ISTEl < 9Ty
39 YA I g HifT | 3
T Ug - (4 x 5=20)
(ErH 3T 999)

. (a) “Hcamrg %1 MEiETd fomm, g i vk 3R I S Rg gad mad car ® 17
3TEWT AfEd 39 U shl ST I | 5

AYdT

(b) S~ed! adt % fer T vyra & fafy= Tyer, &= a1 YTt & deg 3TenT -3
TG - AT 3TIU 1 HTF hel frehfira foham 7 STeXvl Hfed Sare shifs | 5
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26.

27.

28.

29.

30.

“India’s prosperity lies in expanding and diversifying its manufacturing

industries.” Justify the statement. 3

Explain any three responsibilities carried out by the political parties in a

democracy. 3

Examine the significance of credit in economic development of the

country. 3

“Tertiary sector has a pivotal role in the economy of the country.” Support

your answer with day-to-day examples. 3

SECTION - D (4 x 5 = 20)

(Long Answer Type Questions)

(a) “The Gandhian idea of Satyagraha, emphasized the power of truth
and struggle against injustice.” Explain the statement with

examples. 5
OR

(b) How did people belonging to different communities, regions and
language groups develop a sense of collective belonging in the late —

nineteenth century India ? Explain with examples. 5
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31. (a)

(b)

32. (a)

(b)

33. (a)

(b)

“Zo1l TRV ST TITd Fdq YU HAT hT TEEqUl YR 8 |7 IS afgd 39
T h1 STEAT HINT |

YT

“Fott G} ToramenetTdl o foTU 371w 8 |7 3CTEW dfed 39 o ohi T HIfT |

AR T fohH T TS § sga & 2 fergetmor shifst |
3AYAT
Alehds fore Tehr FTETISTeR ferfererdt sl gHmIRTd shtar & 7 fergermor Hifdg |

“TTeRTeh! T oYl 31 98 &T e & 8- ovel 1ol o TR i et foram |
39 YA I IeTEWN Higd AT HIT |

e
“foreeft SR e fageft framr Hifoat, Serietor 3R Jveieto & g § |7 39
I IETE0TT |l ST HIRT |

T g - (3x4=12)

(G- )

34. TAfIRad |id 1 9feu TR Iqeh Tl TG T 791 o I FARa :

gt 3R wfdey

gfod w1eg 61 dTehd T ST ThER THR GRT I5eh! G T ht hifren & firerar
2 | 3Nuftafirs weme gRen YRd | W g8 aum feRarel TR wH-ufeRrstl W sk
TEAT 9T 3R 39 1 a0 e o fofd siga | g uTia s o |
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31. (a) “Promotion of energy conservation is important plank of sustainable

energy.” Explain the statement with examples. 5
OR
(b) “Energy is required for all kinds of activities.” Explain this statement
with examples. 5
32. (a) Democracy is a better form of govt. than dictatorship. Analyse. 5
OR
(b) Democracy accommodates social diversities. Analyse. 5

33. (a) “Rapid improvement in technology has been one major factor that
has stimulated the globalisation process.” Explain the statement

with examples. 5
OR

(b) “Foreign trade and foreign investment policies are the aspects of
liberalisation and globalisation.” Explain the statement with

examples. 5

SECTION - E (3x4=12)

(Case Based Questions)

34. Read the following source and answer the questions that follow : 4
Print and Censorship

The power of the printed word is most often seen in the way governments
seek to regulate and suppress print. The colonial government kept
continuous track of all books and newspapers published in India and

passed numerous laws to control the press.
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35.

g fovagg & S, WRA @1 Fem o d8d, 22 IEeRi i S ol uel off | 3 d
18 5 THRT ST A ! S8 g I 8¢ L o1 3fad Tl | Toie o 1€ R
wgaa afrfa 3 1919 ¥ fafy= sraeami & Raes SEiT anfe st &1 3t aed 54
fem | Tt fovagg <t SEeTa W, vt e sifafrem urftd feman o, arfes Jg-waeh
ot 61 TR fopam ST Uk | R BIST g ¥ St auTH W E % dgd HeR B!
off | 37T 1942 T ThIaA 90 TGS T gHA foharm 1T |

(34.1) 3T TRHR TRAT THER-TET T TR T o ToTu 1 alieh 1o oft 2
(34.2) ST TR ST A Y9 I HH g foha 2

(34.3) TUER-UA W ‘S AHfd’ o THE] 1 foeryor Hif |

freferRaa & w1 ufeu 3TR 39eh = feu 7 et o 3T e
S QRIS

FISHeH e 8 9§79 (TSR) Teh Hewqul SiTett SSfd & | 1973 H JTfeehiia 4 wrn foh <1
T 204w % TR | STE Y T JHIHT T@N 55,000 | T U 1,827 & T8
2 | SITEIl <hl AR 3T TR o ToTU 3139 fRTehR ST, ST Trel o1 faepe, HieH
T STTawareh SATE IUSIaRl shi HEAT A BH1 IR SHEEAl H gig STHl ohl Hedl §&
& SR g | STEl 3hi WISl 1 AR, 3T ITeh! BT ol TR < H WHRETd STSfer |
RIFT < SRYT IE ST o B 31 TR T g 718 & | <ok WA 3R a1t gl <ht Q- faars
STl <l ST 3T HET &, 3Td: I ¢ & FIEhR, AR IR TR-HIH SATIR i FTeli b
g R w # |

o TR forva ot Sgale o= Sia IiEieHTST H O U § 3T 3Heh! J83T1d 1973
3 58 | STE TG0 W Ueh Hehalel Sofifcl shi Sl sh1 SRITE T 8, 3AfUq $Heh! 36 wgd 52
3R o SSATT <l fl SMT & | STATEUE | e T 3T, Ufean et H Feed TEA
UM, TS Y H SHaTE TP 3TH, TSR H Giwshl 91 S 93f98R (sanctuary),
IEm ° qHE 919 {Ed (reserve) 3 e § UNER &9 {6 (reserve) WA T &9
TEEToT GRS o $ ISR R |
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During the First World War, under the Defense of India Rules, 22
newspapers had to furnish securities. Of these, 18 shut down rather than
comply with government orders. The Sedition Committee Report under
Rowlatt in 1919 further strengthened controls that led to imposition of
penalties on various newspapers. At the outbreak of the Second World War,
the Defense of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India Movement came
under its purview. In August 1942, about 90 newspapers were suppressed.
(34.1) What method did the colonial government employ to keep track of
Indian newspapers ? 1

(34.2) How did the colonial government’s laws affect the press ?

(34.3) Analyse the impact of ‘Sedition Committee’ on Newspapers. 2
35. Read the following source and answer the questions that follow : 4
Project Tiger

Tiger is one of the key wildlife species in the faunal web. In 1973, the
authorities realized that the tiger population had dwindled to 1,827 from an
estimated 55,000 at the turn of the 20th century. The major threats to tiger
population are numerous, such as poaching for trade, shrinking habitat,
depletion of prey base species, growing human population, etc. The trade of
tiger skins and the use of their bones in traditional medicines, especially in
the Asian countries left the tiger population on the verge of extinction. Since
India and Nepal provide habitat to about two-thirds of the surviving tiger
population in the world, these two nations become prime targets for
poaching and illegal trading.

“Project Tiger”, one of the well publicised wildlife campaigns in the world,
was launched in 1973. Tiger conservation has been viewed not only as an
effort to save an endangered species but with equal importance as a means
of preserving biotypes of sizeable magnitude. Corbett National Park in
Uttarakhand, Sunderbans National Park in West Bengal, Bandhavgarh
National Park in Madhya Pradesh, Sariska Wildlife Sanctuary in
Rajasthan, Manas Tiger Reserve in Assam and Periyar Tiger Reserve in

Kerala are some examples of the tiger reserves in India.

32/2/1/21/BBCA2 Page 25 of 32 P.T.O.




36.

(35.1) ‘ST" UREAISHT < ST TRET o foTC Ueh Hewaqul shed @i HIHT TR 2
(35.2) Sfversh s STeTd) § Wi 3 @ ftrent fvrg 2

(35.3) T ST SISl b foTq Tohrl &1 T @] o1 3eeid hilT |

Fr=fefiga ara =1 afew 3t e Fi= feg T y9a1 o 3 fefau
W <ht werR ferfereran

T | ferat wreTd 8 2 38enT SiaT 39 o1 91 R wtar 2 fop 3mg wmwnai 6 e

ope 8 Xd 2 | 39 IR ¥ 31¥ehd FHaH A1 2011 3 SHIVET & SAfhel 9 gIEe

B & | 38 SEOAT H AR A 1300 § SATGT 3TTHT- 3TN HTNIST i ST HIGHTST 6 &9
T gol HURAT AT | 37 WIS 1 $© TY@ WIS 5 T TYEeg L T g | J-
wrorgll, T, JeeTed, Tefiendl, Toer o Te & gl wsit R % st e
foram e % | Ve Tagegar % wie ot SEvET 121 yg@ wiend ot T | 3 22
VI3 ST AR Gfaer 6t smedt st # w@n mn g 3R 3w s 3% ey
WITY 3T ST 2 | STehl o1 TR- TG W' *hagd & | Wi o feme § Wia g
Gvad: oY saTel fafagar aren ¢ g |

(36.1) 2011 Sh1 WTA <! SIUMT H feheT WTNT3T 31 HIGHTST < &9 H Gf fohal TIT ?
(36.2) SIUMT FHIE § WIS i ohdl Tg foha T 2

(36.3) WTNI3Tl T WRA I 3T S H iyt g1 Wi fafgerar # fha yer
e &l 8 2 e Hif |
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(35.1) Why was ‘Project Tiger’ considered a significant step for Tiger

Conservation ? 1

(35.2) What role did India play in the global tiger population ? 1
(35.3) Mention any two major threats to the wildlife species. 2

36. Read the following extract and answer the questions that follow : 4

Linguistic diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the Census
of India held in 2011. This census recorded more than 1300 distinct
languages which people mentioned as their mother tongues. These
languages were grouped together under some major languages. For
example, languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together under
‘Hindi’. Even after this grouping, the Census found 121 major languages.
Of these, 22 languages are now included in the Eighth Schedule of the
Indian Constitution and are therefore called ‘Scheduled Languages’.
Others are called ‘Non-Scheduled Languages’. In terms of languages,

India is perhaps the most diverse country in the world.

(36.1) How many languages were recorded as mother tongues in the

2011 Census of India ? 1
(36.2) How were the languages grouped together in the Census report ? 1

(36.3) How does the inclusion of languages in the Eighth Schedule of the

Indian Constitution contribute to linguistic diversity ? Explain. 2
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QUg - (2+3=5)

(AT RIeTe JTETRA T9)

37. (a) TeU U vRE % Tifoe ET-aHfea o 9 €IF A 3K B % 9 o guiv T § |
freafafiga Sl <6 Tgrdn 9 3= YT 37T 39k T8l A8 3k gHig Eis T

@3t v fafae 2x1=2
() T8 TIE el St 4 FH e e | 1
(i) o8 T STET YR TP S T M9 1920 H 53T | 1
(b) YR % 3ET ToHIfaeh W@T-gHtE W fefafaa 8 @ f6d & = sugs el 3
gaIEd 3R 3e T forflam 3x1=3
(i) G — S 1
(ii) SHoTIeRRH — TTHTY] el T 1
(iil) STCE — AR SENfeh! ureh 1
(iv) FHTST — S Ff o 1
e : FrferRad e e gt wlenfia & fog wer den 37 F M W R | 5x1=5
fopgt it Tt & SR e
(37.1) 38 ¥AW 1 9 foARau ST refisht 3 0 S el | 1
(37.2) 39 TJM w1 A feTRaq &7 TR TR S T ATEIH 1920 T g3 | 1
(37.3) 38 U=g 1 T ferfay et fogdt afu feaa 3 | 1
(37.4) 38 TS 1 1 TIRGT T Hetuany TTETT] SHoll 997 fR@A 7 | 1
(37.5) 38 TS 1 1 fIRgQ &7 ATt At o< fa & | 1
(37.6) 3 T 1 T8 feAfaw STeT srefE dtes Srenfisht urh srafeed 7 | 1
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SECTION - F (2+3=5)
(Map Skill Based Questions)

37. (a) Two places A and B have been marked on the given political outline
map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near
them : 2x1=2
(1) The place where Gandhiji broke Salt Law. 1
(i1) The place where the Indian National Congress Session was held

in 1920. 1
(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Salal-Dam 1
(11) Kalpakkam — Nuclear Power Plant 1
(i11) Bengaluru — Software Technology Park 1
(iv) Mormugao — Major Sea Port 1
Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 37. 5x1=5
Attempt any five questions :
(37.1) Name the place where Gandhiji broke Salt Law. 1
(37.2) Name the place where Indian National Congress Session was held
in 1920. 1
(37.3) Name the State where Tehri dam is located. 1
(37.4) Name the State where Kalpakkam Nuclear Power Plant is located. 1
(37.5) Name the State where Mormugao Sea Port is located. 1
(37.6) Name the State where Bengaluru Software Technology Park is
located. 1
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination March -2024
SUBJECT NAME: Social Science SUBJECT CODE 087 PAPER CODE 32/2/1

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according
to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due
marks be awarded to them. In class-X, while evaluating two competency-based questions, please try
to understand given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression and
if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,
to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is
any variation, the same should be zero after delibration and discussion. The remaining answer books meant
for evaluation shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. Evaluators
will not put right (v') while evaluating which gives an impression that answer is correct and no marks are
awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be
followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This
may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has
to be used. Please do not hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Details
are given in Spot Guidelines).

Ensure that you do not make the following common types of errors committed by the Examiner in the past:-
Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)




e  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0)Marks.

14.

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board.
Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

15.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

16.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

17.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that
they must ensure that evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.




Marking Scheme
Class X -Social Science (087)

SET-32/2/1
SET -1 MM-80
S.No. Values Points Page No. Marks-
Section A (20X1=20)
Multiple Choice Question
1 (C) Romanticist 14, H 1
2 (A)Both (A) and (R) are true and (R) is the correct 22,H 1
explanation of (A)
3 (OIV,LI &II1 1
4 (B) Sudarshan Chakra Sachhi Kavitayen 126, H 1
(D) Kashi Baba-Chhote Bade Sawal
(Both options to be considered.)
5 (A)Natural Gas 52,G 1
6 (D)Alluvial Soil 7, G 1
7 (O) I-¢, II-a, I1I-b, IV-d 34-35, G 1
8 (D)Secular 37,P 1
9 (A)Union List Subjects- Communications 16-17, P 1
(C)Concurrent List Subject-Adoption
(Both options to be considered.)
10 (D)LII &III 4-5,P 1
11 (D)China 51, P 1
12 (C)Rule of people with freedom 1
13 (D)Odia 22, P 1
14 (B)7 7, E 1
15 (A)Rs.4,000 9, E 1
16 (C)Tertiary Sector-Astronaut 21, E 1
17 (C)Unorganized Sector 31,E 1
For V.I. Candidate- (B)Multinational Corporations
18 (D)To support economic growth 42, E 1
19 (B)I-c, II-d, I1I-a, IV-b 64, E 1




20 (C) Assessment of Body Composition 13, E 1
Section B (4X2=8)
Very Short Answer Type Questions
21 Conservative regimes setup in Europe in 1815 were | 11, H 2X1=2
autocratic. Support the statement by giving any two
arguments.
(1) Conservatives wanted to restore traditional
institutions of state and society.
(i1) Conservative regimes did not tolerate criticism and
dissent.
(ii1))  They sought to curb activities that questioned the
legitimacy of these governments.
(iv)  Most of them imposed censorship laws to control
what was said in newspaper, books etc.
v) Any other relevant point.
Any two arguments to be mentioned.
22 How is horizontal power sharing different from vertical? | 8, P 2X1=2

Explain.
Horizontal power sharing

(1) Power is shared among different organs of the
government such as legislature, executive and
judiciary.

(i1) It allows different organs of government placed
at the same level to exercise different powers.

(ii1) Such a separation ensures that none of the organ

exercises unlimited powers.

Vertical Power Sharing

(1) Powers is shared among governments at different
levels such as General or Union Government for
the entire country and government at provincial
or regional level.

(i1) The constitution clearly lays down the powers of
different levels of government. This is called
federal division of power.

(1i1) Different level exercise their powers independent
of each other.
(iv) Any other relevant point of difference.

Any two points to be explained.
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(a) Differentiate between primitive subsistence and
commercial farming.
Primitive subsistence

(1)

(ii)

(iii)

(iv)
)

(vi)
(vii)

Primitive subsistence agriculture is practiced on
small patches of land with the help of primitive
tools like hoe, dao and digging sticks and family/
community labour.

This type of farming depends upon monsoons,
natural fertility of the soil and suitability of other
environmental conditions to the crops grown.

It is ‘slash and burn’ agriculture. Farmers clear a
patch of land and produce crops. When soil
fertility decreases, the farmers shift and clear a
fresh patch of land for cultivation.

Crops are produced to sustain the family.

It is labour intensive farming, since most of the
activities are done by human labour.

Land fertility is low as fertilizers are not used.
This type of shifting allows nature to replenish
the fertility of soil through natural process.

Commercial Farming

(1)
(ii)

(iii)

(iv)
)

(vi)
(vii)

(viii)

In this type of farming higher dose of modern
inputs is used.

High Yielding Variety (HYV) seeds, chemical
fertilizers, insecticides and pesticides etc. are
used

obtain higher productivity.

The degree of commercialization of agriculture
varies from one region to another. For example,
rice is a commercial crop in Haryana and Punjab
and it is a subsistence crop in Odisha.
Commercial farming is done with the view to
sell the crops and gain profit.

It is capital intensive since it depends on
machines to get the work done.

Land productivity is high.

Does not allow nature to replenish the soil
fertility through natural process.

Any other relevant points.

Any two points to be differentiated.

OR

(b) Differentiate between Rabi and kharif cropping sessions.

Rabi Crops

(1) Rabi crops are sown in winter from October to

December and harvested in summer from April to

June.

30-31, G

32,G

2X1=2




(i)

(iii)

(iv)

Some of the important rabi crops are wheat, barley,
peas, gram and mustard.

Punjab, Haryana, Himachal Pradesh, Jammu and
Kashmir, Uttarakhand and Uttar Pradesh are
important for the production of rabi crops.

Require warm climate for germination and cold
climate to grow. Availability of precipitation during
winter months due to the western temperate cyclones

help in the success of these crops.

Kharif Crops

(1)

(i)

(iii)

(iv)
)

Kharif crops are grown with the onset of monsoon in
different parts of the country and these are harvested
in September-October.

Important crops grown during this season are paddy,
maize, jowar, bajra, tur (arhar), moong, urad, cotton,
groundnut and soyabean.

Some of the important rice growing regions are
Assam, west Bengal, coastal regions of Odisha,
Andhra Pradesh, Telangana, Tamil Nadu, Kerala and
Mabharashtra, particularly the Konkan coast with
Uttar Pradesh and Bihar.

Kharif crops require hot weather and good rainfall.

Any other relevant point.

Any two points to be differentiated.

24

How can a nation achieve a balance between economic
growth and the environment sustainability? Explain by
giving any two arguments.

(1)

(i)

(iii)

(iv)

Sustainable development is environment friendly
economic development which advocates for
conserving resources for future generations.
Development can be sustained in any economy by
using renewable resources such as hydel energy,
wind energy and solar energy.

Non-renewable resources are those which get
exhausted after years of use. We have a fixed stock
of these on earth which cannot be replenished. So
their use should be reduced.

Renewable resources are replenished by nature.
However, even these resources may be overused. For
example, in case of groundwater, if we use more than

14-15, E

2X1=2




what is being replenished by rain then we would be
overusing these resources. So they also should be
used wisely.

(v) Use of public transport, conservation of resources,
reducing, recycling and reusing of resources.

(vi)  Any other relevant point.

Any two arguments to be explained.

Section C (5X3=15)
Short Answer Type Questions
25 (a) How was the silk route an example of vibrant pre- | 54, H 3X1=3
modern trade? Explain.
(1) There were several silk routes over land and sea, knitting
together vast regions of Asia with Europe and Northern Africa.
(i1)) West bound Chinese silk cargoes passed through these
routes.
(i11))Chinese pottery, textiles and spices from India and
Southeast Asia travelled the silk routes.
(iv)In return, Precious metals-gold and silver-flowed from
Europe to Asia.
(v)Any other relevant point.
Any three points to be explained.
OR 54-55, H 3X1=3
(b) How did food promote long distance cultural
contacts in the pre- modern world? Explain.
(1) Traders and travelers introduced new foods/crops to
the lands they travelled.
(i1) Noodles travelled from China to western countries to
become spaghetti.
(ii1))  Arab traders took pasta to Sicily (now parts of Italy)
(iv)  Potatoes, tomatoes, soya, groundnuts, maize, chillies,
sweet potatoes etc. were introduced in Europe and
Asia after discovery of the Americas.
(v) Many of our common foods came from America’s
original inhabitants-the American Indians.
(vi)  Any other relevant point.
Any three points to be explained.
26 ‘India's prosperity lies in expanding and diversifying its 58, G 3X1=3

manufacturing industries.” Justify the statement.

(i) Manufacturing industries help in modernizing
agriculture, which forms the backbone of our
economy, they also reduce the heavy dependence of
people on agricultural income by providing them
jobs in secondary and tertiary sectors.




(i)

(iii)
(iv)

)

(vi)

Industrial development 1is a precondition for
eradication of unemployment and poverty from our
country.

It aims at bringing down regional disparities by
establishing industries in tribal and backward areas.
Export of manufactured goods expands trade and
commerce, and brings in much needed foreign
exchange.

Countries that transform their raw materials into a
wide variety of finished goods of higher value are
prosperous.

Any other relevant point.

Any three points to be explained.

27 Explain any three responsibilities carried out by the political | 48-49, P 3X1=3
parties in a democracy.
(1) Political Parties contest elections.
(i1) Parties put forward different policies and
programmes and the voters choose from them.
(ii1))  Parties play a decisive role in making laws for a
country.
(iv)  Parties form and run the government.
(V) Parties recruit and train the leaders.
(vi)  Parties play the role of opposition.
(vii)  Parties shape public opinion.
(viii) Parties provide people access to government
machinery and welfare schemes implemented by
governments.
(ix)  Any other relevant point.
Any three points to be explained.
28 Examine the significance of credit in economic development | 43-50, E 3X1=3

of the country.

Credit

(@)

(ii)

(iii)

(iv)

A large number of transactions in our day—to-day
activities involve credit in some form or the other.
Credit refers to an agreement in which the lender
supplies the borrower with money, goods or services
in return for the promise of future payment.

The credit helps people to meet the ongoing expenses
of production, complete production on time and
thereby increase his earnings.

Credit plays a vital and positive role in case people
need working capital for production. Like crop
production involves considerable costs on seeds,

fertilizers, pesticides, water, electricity, repair of




equipment etc.

(v) Farmers usually take crop loans at the beginning of
the season and repay the loans after harvest.
Repayment of the loan is crucially dependent on the
income from farming.

(vi)  Any other relevant point.

Any three points to be examined.

29 “Tertiary sector has a pivotal role in the economy of the | 24-26, E 3X1=3
country”. Support your answer with day-to-day examples.
(1) Tertiary sector is the third category of activities after
primary and secondary sectors.
(i1) The activities of tertiary sector help in the
development of the primary and tertiary sector.
(ii1))  These activities by themselves do not produce a good
but they are an aid or a support for the production
process.
(iv)  Tertiary sector provides services like transport,
banking, communication, storage, trade etc.
v) Since these activities generate services rather than
goods, the tertiary sector is also called service sector.
It includes some essential services that may not
directly help in production of goods. For traders and
doctors etc.
(vi)  Tertiary sector provides employment to a large
number of people.
(vil)  The share of tertiary sector in GDP is the highest in
our country.
(viii) Tertiary sector also helps in bringing the much-
required foreign reserves.
(ix)  Any other relevant point.
Any three examples to be explained.
Section D (4X5=20)
Long Answer Type Questions
30 (a) The Gandhian idea of Satyagraha emphasize the 31,b,H 5X1=5

power of truth and struggle against injustice. Explain

the statement with example.

(1) The idea of satyagraha highlighted the power of
truth and the need to search for the truth.

(i1) Satyagraha was a novel method of mass agitation,

(i) It stressed the principle of truth, tolerance, non-
violence and peaceful protests.

(iv)  Satyagraha according to Gandhiji is not physical
force but requires intense activity.




(V)
(vi)

(vii)

(viii)

(ix)
(x)

(xi)

The idea was to resist injustice without use of
force.

Gandhiji made people aware of their rights and
encouraged them to fight for them without using
violence.

He organized Satyagrahas against oppressive
plantation system in Champaran.

Organised satyagraha to help people in Kheda
adversely affected by crop failure who were
demanding relaxation of revenue collection.
Organised satyagraha movement to help cotton
mill workers in Ahmedabad.

Later, he extended the practice of satyagraha in
all major movements like Rowlatt Satyagraha,
Non-Cooperation Movement, Civil Disobedience
Movement and Quit India Movement.

Any other relevant point.

Any five points to be explained.

OR

(b) How did people belonging to different communities,
regions and language group developer science of
collective belonging in the late 19th century India?
Explain with examples.

(@)

(i)

(iii)

(iv)

v)

(vi)

With the growth of nationalism the identity of
India was associated with the image of Bharat
Mata.

The image was first created by Bankim Chandra
Chattopadhyay. In the 1870s he wrote ‘Vande
Mataram’ as a hymn to the motherland. Later it
was included in his novel Anandmath and
widely sung during the Swadeshi movement in
Bengal.

During Swadeshi movement, Abanindranath
Tagore painted his famous image of Bharat
Mata. In this painting Bharat Mata is portrayed
as an ascetic figure; she is calm, composed,
divine and spiritual.

Ideas of nationalism also developed through a
movement to revive Indian folklore.

In late-nineteenth-century India, nationalists
like Rabindra Nath Tagore and Natesa Sastri
began recording folk tales sung by bards and
they toured villages to gather folk songs and
legends.

It was essential to preserve this folk tradition in

47-48, H




(vii)

(viii)

(ix)

(x)

order to discover one’s national identity and
restore a sense of pride in one’s past.

During the Swadeshi movement in Bengal, a
tricolour flag was designed. It had eight lotuses
representing eight provinces of British India,
and a crescent moon, representing Hindus and
Muslims.

Gandhiji designed a Swaraj flag. It was a
tricolour flag with a spinning wheel in the
centre.

Another means of creating a feeling of
nationalism was through reinterpretation of
History. By the end of the nineteenth century,
many Indians began feeling, that to instil a
sense of pride in the nation; Indian history had
to be thought about differently and began
looking into the past to discover India’s great
achievement.

Any other relevant point.

Any five points to be explained.
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(a)Promotion of energy conservation is important plank of
sustainable energy. Explain the statement with examples.

(1) Judicious use of limited energy resources.

(i1) For example, as concerned citizens we can do our bit by
using public transport systems instead of individual
vehicles.

(ii)Switching off electricity when not in use.

(iv)Using power saving devices.

(v) Using non-conventional sources of energy.

(vi) Any other relevant point.

Any five points to be explained with examples.

OR

(b)Energy is required for all kinds of activities. Explain the
statement with examples.

(1)

(i)

(iii)

(iv)
)

Energy is a basic requirement for economic
development as it is needed for all types of
activities.

In agriculture, energy is required for water
pumps, tractor and other harvesting machines.
Green revolution further increased need of energy
for using modern farming methods.

No industry can run without energy. With growth
of industrial sector the need of energy is rapidly
rising all over the country.

Transport sector has high consumption of energy.
Commercial and domestic sectors of the economy

55,G
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need inputs of energy.
(vi)  Any other relevant point.
Any five points to be explained with examples.
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(a) Democracy is a better form of Government than
dictatorship. Analyse.
(i) In democracy people have right to choose their rulers and
have control over rulers whereas in dictatorship people cannot
exercise this right.
(ii) There are regular free and fair elections, open public debates
on major policies in democracy whereas in dictatorship people
don’t get these rights.
(ii1)Citizens’ right to information about government and its
functioning ensures accountability of government whereas this
accountability is missing in dictatorship.
(iii) In democracy decision making is based on the idea of
deliberation and negotiations whereas in dictatorship, rulers do
not bother about public opinion.
(iv)Democratic governments attend to the needs of people as
they want to be elected again. In dictatorship, rulers don’t have
to bother about elections.
(v)Democratic governments follow norms and procedures.
Citizens have rights and means to examine the process of
decision making.
This feature is missing in dictatorship.
(vi)Democratic governments accommodate various social
divisions.
(vii)Equal political rights, freedom of speech and expression
enhance dignity of citizens and transform them from the status
of subject into that of a citizens.
(viii)Any other relevant point.

Any five points to be analyzed

OR

(b) Democracy accommodates social diversities. Analyse.
Democracy can better accommodate various social divisions

(1) Accommodation of social diversity in democracy
helps the citizens to lead a peaceful and harmonious
life. For example, Belgium successfully negotiated
differences among ethnic populations.

(i)  Democracies usually develop a procedure to
accommodate competition amongst various social
groups.

(ii1))  Democracies are better able to evolve mechanism to
handle and negotiate the social differences, divisions
and conflicts.

(iv)  Majority works with minority so that governments
function to represent general view.

(v) It is tried that rule of majority doesn’t become rule of
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(vi)

majority community in terms of religion, race or
language etc.

Every citizen gets a chance of being in majority at
some point of time.

(vil)  Any other relevant point.

Any five points to be analyzed.
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(a) Rapid improvement in technology has been one major
factor that has stimulated the globalisation process. Explain
the statement with examples.

1.

il.

1ii.

1v.

V1.

Rapid improvement in technology has been one major
factor that has stimulated the globalisation process.

For instance, the past fifty years have seen several
improvements in transportation technology.

This has made much faster delivery of goods across long
distances possible at lower costs.

Even more remarkable have been the developments in
information and communication technology. In recent
times, technology in the areas of telecommunications,
computers, Internet has been changing rapidly.
Telecommunication facilities (telegraph, telephone
including mobile phones, fax) are used to contact one
another around the world.

Any other relevant point.

Any five points to be explained.

OR

(b) Foreign trade and foreign investment policies are the
aspects of liberalization and globalisation. Explain the
statement with examples.

Foreign Trade and Foreign investment are main channels of

connecting countries.

(1)

(ii)

(iii)

(iv)

)

Foreign Trade creates opportunities for producers to
reach beyond domestic markets and invest outside
for better returns.

Gives consumers more choices at less cost across the
countries.

Liberal policies of government i.e. removing barriers
on imports and exports facilitate foreign trade and
foreign investment.

Liberalisation leads to expansion of foreign trade
resulting in connecting of markets of various
countries.

Multinational Corporations expand their production
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and invest capital in various countries and produce
the goods globally.

(vi)  For operating smoothly they need favourable
government policies(libaralisation).

(vil)  Any other relevant point.

Any five points to be explained

Section E 3X4=12
CASE BASED QUESTIONS
(4X5=20)
34 Read the following source carefully and answer the | 127, H 1+1+2=4

questions that follow:

Print and Censorship

The power of the printed word is most often seen in the way
governments seek to regulate and suppress print. The colonial
government kept continuous track of all books and newspapers
published in India and passed numerous laws to control press.
During the First World War, under the Defense of India Rules,
22 newspapers had to furnish securities. Of these, 18 shut down
rather than comply with government orders. The Sedition
Committee Report under Rowlatt in 1919 further strengthened
control that led to imposition of penalties on various
newspapers. At the outbreak of the Second World War, the
Defense of India Act was passed, allowing censoring of reports
of war-related topics. All reports about Quit India Movement
came under its purview. In August 1942, about 90 newspapers
were suppressed.

34.1 What method did the colonial government employ to keep
track of Indian newspapers?

(i) Colonial Government passed Vernacular Press Act and other rules
to control the press.

(i1) Imposition of penalties.

(ii1))Government kept regular track of the vernacular newspapers.

(iv)Censoring of reports of war related topics.

(v)Any other relevant point.




Any one point to be mentioned

34.2 How did the colonial government’s laws affect the
press?

(i) During the First World War, under the Defence of India
Rules 22 newspapers had to furnish securities and 18 of these
shut down.

(i) There were strong protest by Indians.

(ii1)Liberty of Press was lost.

(iv)Many people were imprisoned when they broke these laws.
(v)Any other relevant point.

Any one point to be mentioned.

34.3 Analyse the impact of ‘Sedition Committee’ on
Newspapers. )

(1))When a report was judged as seditious, the newspaper was
warned.

(i1)If the warning was ignored, the press was liable to be seized
and the printing machinery to be confiscated.

(iii)Any other relevant point.

35

Read the following source carefully and answer the

questions that follow:

Project Tiger
Tiger is one of the key wildlife species in the faunal web. In
1973, the authorities realized that the tiger population had
dwindled to 1,827 from an estimated 55,000 at the turn of
the 20™ century. The major threats to tiger population are
numerous, such as poaching for trade, shrinking habitat,
depletion of prey base species, growing human population,
etc. The trade of tiger skins and the use of their bones in
traditional medicines, especially in the Asian countries left
the tiger population on the verge of extinction. Since India
and Nepal provide habitat to about two-thirds of the
surviving tiger population in the world, these two nations

become prime targets for poaching and illegal trading.
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“Project Tiger”, one of the well published wildlife campaigns
in the world, was launched in 1973. Tiger conservation has
been viewed not only as an effort to save and endangered
species but with equal importance as a means of preserving
biotypes of sizeable magnitude. Corbett National Park in
Uttarakhand, Sunderbans National Park in West Bengal,
Bandhavgarh National Park in Madhya Pradesh, Sariska
Wildlife Sanctuary in Rajasthan, Manas Tiger Reserve in
Assam and Periyar Tiger Reserve in Kerala are some

examples of the tiger reserves in India.

35.1 Why was ‘Project Tiger’ considered a significant step
for Tiger Conservation?
(1)’Project Tiger’ is an effort to save a single species on a large
scale.
(i1)Project aimed to address the decline in tiger numbers caused
by threats like poaching, habitat loss, depletion of prey species
and human encroachment.
(iii)Played vital role in safeguarding the tiger population while
indirectly protecting entire ecosystems.
(iv)Any other relevant point.

Any one point to be mentioned
35.2 What role did India play in the global tiger population?
(i) Wildlife Protection Act for protecting Habitat
(i1) Ban on hunting
(ii1)Restriction on trade in wildlife

(iv)National Parks and Wildlife Sanctuary

(v)India and Nepal provide habitat to about two-third of the
surviving tiger population in the world.

(vi)Project Tiger was launched to protect tigers and their
habitats.

(vii)There are 39 tiger reserves in India.

(viii)Any other relevant point.




Any one point to be mentioned

35.3 Mention any two major threats to the wildlife species.
2

(i) Poaching for trade: Illegal hunting of tigers for their
valuable skin and bones used in traditional medicines.

(ii) Habitat Loss: Human activities like deforestation, urban
expansion and agricultural activities etc.

(iii))Depletion of prey base species: Reduction in the number of
animals that tiger prey upon, resulting in food scarcity.

(iv)Any other relevant point.

Any two points to be mentioned.

36

Read the following source carefully and answer the
questions that follow:
Linguistic diversity of India

How many languages do we have in India? The answer
depends on how one counts it. The latest information that we
have is from the Census of India held in 2011. This census
recorded more than 1300 distinct languages were grouped
together under some major languages. For example,
languages like Bhojouri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped
together under ‘Hindi’, Even after this grouping, the Census
found 121 major languages. Of these, 22 languages are now
included in the Eighth Schedule’. Others are called ‘Non-
Scheduled Languages,” In terms of languages, India is

perhaps the most diverse country in the world.

36.1 How many languages were recorded as mother tongues
in the 2011 Census of India?
1)

The census of India recorded more than1300 distinct languages

as mother tongues.

22, P

1+1+2=4




36.2 How were the languages grouped together in the Census
report?(1)

The languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani were grouped under the category of
“Hindi”.

36.3 How does the inclusion of languages in the Eighth
Schedule of the Indian Constitution contribute to linguistic
diversity? Explain.(2)

(i) It recognizes their cultural and linguistic significance.

(ii) It helps protect and promote these languages, ensuring that
speakers have access to education and government services in
their native languages.

(ii1))Most of these languages are also the official languages of
their respective states.

(iv)Any other relevant point.

Any two points to be mentioned

Section F

Map Based Questions

(2+3=5)

37

(a) Two places A and B have been marked on the given
political outline map of India. Identify them with the
help of the following information and write correct
names on the lines drawn near them:

(1) The place where Gandhiji broke Salt Law.
(i1) The place where the Indian National Congress
Session was held in 1920.

(b) On the same political outline map of India, locate and
label any three of the following with suitable symbols:
(1) Salal-Dam
(i1) Kalpakkam- Nuclear Power Plant
(ii1))  Bengaluru -Software Technology Park
(iv)  Mormugao-Major Sea Port

1x3=3

Note: The following questions are for Visually Impaired

1x5=5




Candidates only in lieu of Q. No. 37.

Attempt any five questions:

(37.1) Name the place where Gandhiji broke salt law.

Dandi

(37.2) Name the place where Indian National Congress
Session was held in 1920.

September-1920-Nagpur

December-1920-Kolkata (Calcutta)

(37.3) Name the State where Tehri dam is located.
Uttrakhand

(37.4) Name the State where Kalpakkam Nuclear Power
Plant is located.

Tamilnadu

(37.5) Name the State where Mormugao Sea Port is located.
Goa

(37.6) Name the State where Bengluru Software Technology
Park is located.

Karnataka
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